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1. HEERH
B | BEER | Bz |[SxEeB|sns08|snaE 28|44 2&E108|SF13ETA | SF4E 108
A A A A A A
HLEIER KEZTH 7:15 440 39.0 34.0 33.0 420 37.0
L EIER KEZTH 7:33 430 55.0 58.0 45,0 36.0 59.0
FEER *E=TH 7:51 43.0 61.0 28.0 320 23.0 23.0
FLEIER KE=TH 8:15 66.0 63.0 94.0 54.0 46.0 495
FLEIER KE=TH 8:35 65.0 67.5 88.0 48.0 49.0 295
151 B ER KE=TH 8:56 38.0 32.0 31.0 23.0 19.5
N 299.0 317.5 302.0 243.0 219.0 217.5
TR ER ATR 16:58 10 2.0 1.0 3.0 25
HLEER ATR 17:35 12.0 7.0 40 5.0 45
HLEIER ATR 17:45 1.0 15 1.0 40 0.5
HLEIER ATR 18:58 40 45 3.0 10 2.5
LR ER ATR 19:18 8.0 7.0 11.0 9.0 115
NG 26.0 22.0 0.0 20.0 22.0 21.5
ERF &5 325.0 339.5 302.0 263.0 241.0 239.0

2. XEWTHHX

REZE | BEER | &% |[SfxgEeB|sinE0B|sanaE 28| S 2&E108 | SF13FETR | SF14&108
A A A A
FEMT B|HEER 6:50 5.0 10.0 9.0 5.0 10.5
SE&mT B|HEER 7:05 15.0 25.0 21.0 20.0 20.0
N Bt 20.0 35.0 30.0 25.0 30.5
FEMTB|HEER 17:21 39.0 26.0 28.0 16.0 24.0
FEMTB|HEER 17:55 31.0 54.0 26.0 32.0 320
FEMT B|HEER 18:06 15.0 39.5 49,0 54.0 220
FEMTB|HEER 18:35 31.0 27.0 30.0 14.0 16.0
FEMTB|HEER 18:54 12.0 18.0 10.0 9.0 15.0
FEMTB|HEER 19:18 17.0 135 12.0 11.0 12.0
FEMT B|HEER 19:40 40 5.5 3.0 7.0 9.5
NG 149.0 183.5 158.0 143.0 130.5
ER{TEET 169.0 2185 188.0 168.0 161.0
Hf= =] SHTER 6R148 (OK) (REBRTORBEABDH)
SHTEI0H 108258 (£).288 (R)DFH(2ARM)
SHTEI2A 12A23B(RA) (HEERTOREANEZDH)
SH24£108 10A30H (£) (HEERTOREANZDH)
SHISET7A 7TR13B(K) (REBRTORBEABDH)
SH45E10H 108218 (£). 248 (R)DFH(2BARM)
Lk
(£%5] - AR MR DB/ A RURA SR (R1 EHIZ 10069 3)
120.0
100.0 101.5
100.0 93.3
84.6
80.0 78.0
80.0 72.2
60.0
40.0
20.0
0.0
R1_Hj R1THA R2_EH R2TFH R3_-Hf R3THA R4_EHA

HREIR: B EER. SIEER T ER. BFESEER



